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QUESTION 1

The capabilities of cellular networks have improved greatly since their original development for analog voice phone
calls. Most recently, fourth-generation (4G) wireless supports a variety of data-intensive needs.

A benefit of 4G networks is that they:

A. Use spread-spectrum technology to ensure high transmission rates.

B. Provide fast transmission rates equivalent to DSL or broadband-cable.

C. Provide fast transmission rates equivalent to high-speed dial-up connections.

D. Enable bandwidth throttling, allowing the user access to unrestricted download speeds.

Correct Answer: B

QUESTION 2

Which security issue is most closely associated with wireless networks?
A. Spoofing

B. Wardriving

C. Eavesdropping

D. Man-in-the-middle

Correct Answer: B

QUESTION 3
Jenny recently switched from broadband cable Internet to ADSL service with her local phone company.

To economize, she chose the self-installation option. It appears that her ADSL modem is not allowing her to connect to
the Internet. Which setting should she check first?

A. Loopback address
B. Software version
C. Default gateway
D. Device name

Correct Answer: C

QUESTION 4
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Which of the following statement about virtualization is true?

A. Virtualization enables multiple physical computers to run off of a single virtualized server.

B. In virtualization, you run multiple virtual machines, provided they all use the same operating system.

C. In virtualization, the operating systems of the virtual machines should match the host operating system.
D. Virtualization enables you to run multiple operating systems and applications on a single computer.

Correct Answer: D

QUESTION 5

Lisa is traveling on company business. She has a company-issued smartphone with 4G access. Her hotel does not
provide Internet access. What advantage does 4G provide to help her access the Internet?

A. She can use a 4G mobile hotspot device with her phone to connect her laptop to Wi-Fi.

B. She can use the 4G phone to establish a VPN connection into the company network.

C. She can use the41G phone to call and locate a public location that provides free Wi-FlI.

D. She can use her41G phone\\'s GPS to identify another hotel that provides in-room Internet access.

Correct Answer: A

QUESTION 6

Which of the following is a security threat commonly associated with cloud-based services?
A. Malware

B. Phishing

C. Hypervisor vulnerabilities

D. Operating system vulnerabilities

Correct Answer: C

QUESTION 7

Sam is a professor at a small college. Due to a scheduling conflict, he was unable to obtain access to the computer lab
to give the final exam. As an alternative, he asked students to bring their own devices (BYOD) and connect to the
college\\'s Wi-Fi for network access. What security risk is associated with this implementation?

A. Inability for students to share files

B. Inability for students to back up user files
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C. Student devices sending unsecured data
D. Student devices being more susceptible to malware

Correct Answer: C

QUESTION 8

Which of the following computer system maintenance tasks can help improve file access performance?
A. Use a SCSI drive instead of a SATA drive

B. Use a SATA drive instead of an EIDE drive

C. Defragment the drive using the following command: fdisk -d -w c:/

D. Defragment the drive using the following command: defrag c: -w

Correct Answer: D

QUESTION 9

When a PC computer device wants to communicate with the processor, which system resource does it use?
A. /0

B. DMA

C.PIO

D. IRQ

Correct Answer: D

QUESTION 10

What should be your first step when troubleshooting a network connection that uses a cable modem?
A. Ping the proxy server.

B. Ping the default gateway.

C. Ping local devices using their DNS names.

D. Ping local devices using their IP addresses.

Correct Answer: D
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